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Chapter 4 Test Form A

Solve each system of equations by graphing.
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Chapter 4 Test Form A cont’d

4. Solve the system of equations by using substitution. 4.

x+4y=1
x=-2y-1
5. Solve the system of equations by using elimination. 5.
x+2y=1
2x—y=-3

Solve each system by using the substitution or elimination method.

6 -x+y=-9
T lx-2y=13

Tx—6y=-5
4dx+4y =12

2x+y =6
8. 1 8.

—x—=y=-3
5y

4x+3y:%

3x—2y:—%
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

2x+4y =16
10.
3x+6y=12
2y=x-2
ret 11.
3x-6y=6
3x-6y=5
Y 12.
x+4y=3

A plane traveled a distance of 1800 miles in 3 hours. Find its average speed,
rounded to the nearest mile per hour.

One number is 3 more than a second number. Twice the first is 9 less than 3
times the second. Find the numbers.

A plane traveled a distance of 2400 miles in 4 hours with the wind. The return trip takes
5 hours against the wind. Find the speed of the plane in still air and the speed of the wind.

Two cars leave from a town at the same time traveling in opposite directions. One

travels 5 mph faster than the other. In 3 hours, they are 267 miles apart. Find how fast
each is traveling.

Carol has available a 20% alcohol solution and a 65% alcohol solution. Find how many
liters of each solution she should mix to make 25 liters of 38% alcohol solution.

In a discount clothing store, all sweaters are sold at one fixed price and all shirts are sold at
another fixed price. If one sweater and three shirts cost $42, while three sweaters and two
shirts costs $56, find the price of one sweater and the price of one shirt.

Given the cost function C(x) = 2700 + 31x and the revenue function R(x) = 49x, find
the number of units, x, that must be sold to break even.

Baskets, Inc., is planning to introduce a new woven basket. The company estimates that
$500 worth of new equipment will be needed to to manufacture this new type of basket

and that it will cost $15 per basket to manufacture. The company also estimates that the
revenue from each basket will be $31.

a.) Determine the revenue function R(x) from the sale of x baskets.
b.) Determine the cost function C(x) for manufacturing x baskets.

c.) Determine the profit function, P(x), from the sale of x baskets.
d.) Find the break-even point. Round to the nearest whole basket.
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2xty+z=-1
21. {3x—y+2z=-4 20.

x—2y-3z=-3

3x+4y—z=3
22, Jx+2y+3z=7 21.

x—y—=2z=0

23. Graph the solution to the system of linear
inequalities.
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Testd4 - A

1. (2,4)
2. (-1,0)
3.0
4. (-3, 1D
5. (=1, 1)
6. (5,-4)
1. (1,2)
8. {(x,y)| 2x+y=6
9 (_ij]
22
10. O
1L {(xy) |[x—2y=3]
12. (ﬁj'
9 9)
13. 600 mph

14, (18 liters, 15 liters)
15. (540 mph, 60 mph)
16. (47 mph, 42 mph)

17. (15 liters, 10 liters)

18. (12,10)

19. 150 units

20.

a.) R(x) =31x

b.) C(x) = 15x + 500
c.) P(x) = 16x- 500
d.) x =32 baskets
21, (-1,1,0)

22. (3,-1,2)

23.
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